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1. (33	−	29)	+	(22	−	28)	=
(i) (-1) (ii) (-2) (iii) 0 (iv) (-3) (v) (-5)

2. Find	the	sum	of	the	two	numbers	at	the	points	labelled	with	letters	K	and	L

(i) 14 (ii) 16 (iii) 19 (iv) 15 (v) 17

3. The	value	of	0	−	53	−	36	−	47	is
(i) (-135) (ii) (-137) (iii) (-134) (iv) (-138) (v) (-136)

4. Find	the	value	of 1	✕	13	÷	13	−	21	✕	5	−	15	−	12	−	28	+	(-152)	÷	(-8)
(i) (-141) (ii) (-139) (iii) (-140) (iv) (-143) (v) (-138)

5. Find	the	number	at	the	point	labelled	with	letter	B

(i) 8 (ii) 4 (iii) 6 (iv) 5 (v) 2

6. Find	the	equation	representing	the	following	number	line	diagram

(i) (-1) 3 2+ = (ii) (-2) 1 (-3)− = (iii) (-3) 1 (-2)+ = (iv) 0 1 (-1)− = (v) (-2) 4 (-6)− =

7. The	value	of	18	+	6	is
(i) 25 (ii) 26 (iii) 22 (iv) 24 (v) 23

8. What	is	the	succeeding	number	of	2,122,413?
(i) 2,122,416 (ii) 2,122,415 (iii) 2,122,412 (iv) 2,122,414 (v) 2,122,413

9. The	value	of	1	+	7	is
(i) 9 (ii) 10 (iii) 7 (iv) 8 (v) 6

10. Find	the	value	of 	 (({30	✕	21}	+	25)	−	({({26	✕	17}	−	11)	✕	((15	−	24)	+	28)}	−	12))
(i) (-7521) (ii) (-7524) (iii) (-7522) (iv) (-7519) (v) (-7523)

11. The	value	of	1	✕	23	is
(i) 22 (ii) 24 (iii) 26 (iv) 23 (v) 20



12. Find	the	product	of	the	two	numbers	at	the	points	labelled	with	letters	E	and	F

(i) 55 (ii) 54 (iii) 57 (iv) 52 (v) 53

13. What	is	the	preceeding	number	of	158?
(i) 157 (ii) 160 (iii) 158 (iv) 156 (v) 154

14. The	value	of	0	+	8	is
(i) 7 (ii) 10 (iii) 8 (iv) 6 (v) 9

15. Find	the	value	of 20	✕	360	÷	12	+	23	−	10	−	22	+	27	−	14	✕	625	÷	25
(i) 268 (ii) 267 (iii) 271 (iv) 269 (v) 265

16. The	value	of	7	−	1	is
(i) 7 (ii) 5 (iii) 4 (iv) 6 (v) 8

17. 6	✕	______	=	48
(i) 11 (ii) 8 (iii) 9 (iv) 5 (v) 7

18. Find	the	value	of 	 {[3483	÷	([324	÷	12]	+	{{(-10)	✕	(-9)}	✕	4})]	✕	[841	÷	(14	+	15)]}
(i) 261 (ii) 262 (iii) 259 (iv) 264 (v) 260

19. 12	−	______	=	0
(i) 15 (ii) 9 (iii) 12 (iv) 13 (v) 11

20. What	is	the	preceeding	number	of	2,779,444?
(i) 2,779,444 (ii) 2,779,441 (iii) 2,779,443 (iv) 2,779,445 (v) 2,779,442

21. Find	the	equation	representing	the	following	number	line	diagram

(i) 7 1 8+ = (ii) 8 1 7− = (iii) 10 1 9− = (iv) 9 3 12+ = (v) 8 4 4− =

22. What	is	the	succeeding	number	of	405?
(i) 408 (ii) 405 (iii) 406 (iv) 403 (v) 407

23. 576	÷	______	=	48
(i) 12 (ii) 13 (iii) 10 (iv) 15 (v) 11



24. Find	the	product	of	the	two	numbers	at	the	points	labelled	with	letters	T	and	U

(i) 37 (ii) 40 (iii) 42 (iv) 41 (v) 39

25. What	is	the	preceeding	number	of	120?
(i) 117 (ii) 118 (iii) 120 (iv) 121 (v) 119
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